1.

TR0 5y =1 2R * 1R
AT 1% BT _____ FHBHEE
S (TR wass @M m oW g [P ACEERTEECEA RS
Vo AR (ikcakAE: —% E%%;Fﬁttfgfﬁtti”;‘ﬁttéﬁittfé ’
A L Xk
1 J REEHOTMA D sk
(1) BEERPHIEN o £ —At 1 180 | —
(2) EFEESh ol 50 | L1|F 17 30— —
2 BRSO Hit
(1) FERELHIEA o = H — lopi 14 — —
(2) EFELS ol
A FEEMEREL GRRE 50 | L1|F 194 19 724 15
o FELSAOHIED S b EEHS (50 | 11 |d 25 28 53H 14
3B A T AR O BRI 0 sk
o~ RREBAAA O I 50 | L.1|F 24F 307 56 14
i ift b Ik — | BEAR (TT LRI b L T L
AT (LA Xk
1 J RECEBRO R o Hisk
(1) BEEiRELHIEN O B M Xk —Ht 10 18 | —
(2) BRSO HE 50 | L1|f 29 22— 17
2 EEHUFE R4 T BRR L
(1) BEIRELHIEAN o 2 Hh —Wt 1ot 16 | —
(2) LRELSOHE 50 | L1|k 27 41 7o 21
3 EERAOHIRD 5 BIE, NFEH
~ TH. fTH
(1) REiRW iR o> 52 F H IR L T U
(2) LEECAS R 50 | L1|f 27 34 - —
4 LEELS o HbE
(1) BRSO £ —Ft lopl 14 | —
(2) LEFEESOHE 50 | L1|F 29 297 sgf 14
| #E ke (s — | R (TR L b S LY
AT LR (X I8




1.

TR0 5y =1 2R * 2R
AT 1% BT _____ FHBHEE
S (TR wass @M m oW g [P ACEERTEECEA RS
v= R 1] RECERHORM Ok * | ’ ’ ’ ’ ’
(1) B3R BN o B2 A H X ik — 1pE 15 | —
(2) LS oHg 50 | 11| 1ed 27% eed 14
2 EEMUFEREA T BRA
(1) BEEEtRELHIgm o 5 e Xk —#t L 15 | —
(2) BRSO HlR 50 | L1|f 26/ 44 8gh 21
3 TWH, ZHEHDSH ] RRERD
TR oD Hatek
(1) FEEERBUHIRP o B A Hi Pl —d 130 16— —
(2) ERELS U 50 | L1|F 20f 30 | —
4 FPEE. TR FoR. FIK,
N, SR BT
(1) B3R E I o 2 H Hh Kk —fl 13 15 | —
(2) LEiSistoHisg 50 | L1 19 30— 17
5 A, +EFH, HIL BF0IHR
AN RERRA
(1) BEEiRELHIEN O B M Xk —Hf 13 15 | —
(2) BRSO HE 50 | L1|P 19 34 | —
6 hRRLLASR O e
(1) BEIRELHIEAN o 2 Hh —Wt 1ot 16 | —
(2) ERLBISHIE 50 | L1|# 26 444 e 18
L5 R A b IR — | BRAR (T LT PR b Y LY
T AR X g
1 ] RECERO RO
(1) B a0 B I o pCie —fe 1pE 16— —
(2) kRIS 50 | L1|% 16F 30— 19
2 EEMOTERA S ERRV
(1) BRERB IS O R — Lofi 16— —
(2) ERICIAoHnisR 50 | L1|% 19f 3yt 720 1§




1.

R0 v R XK 3E
T KATF 4« S AR ARG AT FHEBE
e R ks @ A o w4 [P PEEERTIBEITOGES
5 T 3 LELUMOHNRD 5 bR EHUEHE K ’ | ’ ’ ’ ’ ’
T4 by AR D SRR D Hhdk
(1) FEZERBHERA o 2 Hi K — it mF 1
(2) EFEESSOHIER 50 | L1|F 23 297 72 13
4 RERLS DR
(1) BEIRB RN O 2 M H i —# 108t 15 @ — —
(2) EFESIAOHIE 50 | 11| 194 3o 81t 16
b FRh [iRCxlas: 1 — | BB v LT LT e L
T LR P
1 ?ﬁtﬁ*i%@@%ﬁ?%%ﬁﬂ e | R e fEE) fEE
%
2 ] REEH DR ik
(1) BRI o ] Hh K3 —hl 1upE 16 | —
(2) LEiSistoHisg 50 | L1|h 1ef 33 — -
3 IR, MU EE
(1) REASBEEMREN
A R FER B N o = F D —t 13 18— —
v BEFELASR O Mk 50 | L1|F 31f 34 — -
(2) LREBAS IR
A RZEIR A PN O 2 —di 13 18 — —
o _ERCRA DR 50 | L1|f 23f 34 —| -
4 W, TH®E
(1) RiEXAERERMMRV
A RERBHIE N 0 B MK —l 13 15— —
o _EFRLAA O Mk 50 1% 25 30 — —
(2) EEELSh oMk
A RN 0 2 H Hh XIS —Hl 13 15— —
o RFRLA O IR 50 | L1|p 18h 29 | —




= 1B

I RCETA 4y - A B AU AT FHEBE

1

T RR294E 4y &

] P EE BRI R 5

g " (TR ks wWooOH  #t w4 SN ALT AT

=)

% 4 & & & & 15|
| FRlE 5 FERUAOHIRD 5 BFET, RS
. B¥ew, BEER, TAH, TH
A, W, Bk, BFE, PR
(1) BZEIRWHE A O & M K —fEt 17 17 — —
(2) kELS ORI 50 .15 26 394 g7d 18
6 _FERLIA o M
(1) BRI o 2 K% —ff 198 15 — —

(2) kLo 50 L.1[F 28 384 724 17




